FR2 o, x o Aleet A

SEEE

Oo]—o

@ 4 ® 5 @ 6 ®7

@ 3



=1Sax=>b (T a>0)9 E= Hepd o,

5

sh?

e

a-b o3

@ -7 ® 0 @ 2 ®7

® -14



+3 = ax—10°] x o et LA 4] 57| A%t a 9

@D a+2 @ a+3 ® a+-2

@ a+-3 ® a#0



4. TS ax=bI ER IHE W, a+ 59 A2? (F, aSt b=
A E2AQ AL
5 9
2x-7)==x-=
0.2(x-7) R

@ 17 @ 21 ® 28 @ 31 ® 35



-10 - 2x 9] Sfl=2?

@ x=-1
® x=3



6x—14=3(5+3x) -6



7. 6x-6y=3(x-y)—12 Qo x—y o] FH& FotH?

® -1 @ -2 3 -3 @ -4 G -5



B Al _2x + 5 = 3(x— 1) oAl x 9] Zk22

L

3
< 1 ® 0 @

>~ w

ot co



ARPFA Al 7 1.4x = 0.3(2x — 1) + 1.3 ] 32

® x=-3 @ x=-2 @ x=1
@ x=2 ® x=3



@ 1 ® 2

® 0



@ 3(x-1)+7=0

D x+3=2

@ 0.2x-3=0.5x

2-4{1-(2x-7)}

® 2



12. A 05x-1.2 = 0.2x + 0.3 9] g[|= FotH ?

D1 @ 2 ® 3 @ 4



q_

s

o

4a + 4b
a4+ 2b



14. a:b:c=2:5:74 0, x o B3t AP 4 (a—b)x—%b+2c:

3(b-c) xrasl o oA min el G2 (& mtne H22)

® 8 @ 18 ® 28 @ 38 ® 48






H

<x+2):(5+x)%

— |

e

16.

13
23

11
25

@

11 13 13
B P x5 @93

D -



® 3



1 _ _
18. 8A —2x= 1+ ox | S7b -2y = a (3 +3y) o ] 3 v o,
a o] g7

w
w
w| ot
@)
w| oo



19.

=

oo

T AL 7 Ee W, a o FE27

0.03x = -0.2(1.2x - 2.7)
3a+2(x—-2)=1-4x




20. (x-2) : (x+2) =1 : 38 WEapE v o] o 4 A=)

3
(x—a) =492 L o, &= a o] G20

@ 3 @ 4 ® 5 @ 6 ®7



+==0.9a-2.3

® 4 @ 8 ® 12




22, (x-1) ¢ (r+1)=2 : 38 WEAE o gro] p4 L2

(x=2a) =79 L o, a ] 27

@ 3 @ 4 ® 5 @ 6 ®7



23. t& 54 TollM x ol oE ghe ¥olx ol E 5 gle
i

rr

D 5x-(3-x)=6
@ 4-(x+3)=2x-(3x-2)
@ 4x? -2 (2x% +3) = 4x

@ -(2x-3)+5=2(4+x)
3x+1 4x -1
© 4 3

|
=

tlo

=

Il



24.

(a-2)x=b-37F3l7} gl& =127

D a=2

@ a+2 b+3

@ b=3

®a=2b+3



oh WAL WESE A x, y ol tHstel (v, y) O] Aol

D x>0,y<0¥g i, 2x-5y=10
@ x>0,y<0¥ o, §X—§y=7
® x>0,y<0¥g M, 2x+y=-3
@ x<0,y>0?:l[1ﬂ,3x—gy:4

® x<0,y>0¥¢ ™, -3x+5y=38

=
e

2~
T

3]



5x =5

© 5(x-1)

@ 3x-1=3x

® 5x=3x-2

© -x+4=x-1

@ —x+2=2x-7

®06 ®ee 66

@ ©

® a



